		HOSPITALS			NURSING HOMES	
1						
	Hospitals 2	Hospital Beds 218	Avg. Occupancy 42.3%	Nursing Homes 8	Nursing Home Beds 775	Avg. Occupancy 96.3%
In-F	Patient Days 33,695	Total Admissions 6,886	Avg. Stay 4.89	Total Days 272,483		
2				1		
	Hospitals 2	Hospital Beds	Avg. Occupancy 43.5%	Nursing Homes	Nursing Home Beds 524	Avg. Occupancy 97.3%
In-F	Patient Days 49,351	Total Admissions 12,132	Avg. Stay 4.07	Total Days 186,069		
3						
	Hospitals 1	Hospital Beds	Avg. Occupancy 37.3%	Nursing Homes	Nursing Home Beds	Avg. Occupancy 99.3%
In-F	Patient Days 6,811	Total Admissions 1,744	Avg. Stay 3.91	Total Days 36,228		
4						
	Hospitals	Hospital Beds	Avg. Occupancy 54.1%	Nursing Homes	Nursing Home Beds	Avg. Occupancy 96.3%
In-F	Patient Days 9,080	Total Admissions 2,903	Avg. Stay 3.13	Total Days 35,484		
5						
	Hospitals 1	Hospital Beds 45	Avg. Occupancy 49.0%	Nursing Homes	Nursing Home Beds 150	Avg. Occupancy 99.8%
In-F	Patient Days 8,053	Total Admissions 2,037	Avg. Stay 3.95	Total Days 54,631		
6						
	Hospitals 1	Hospital Beds 25	Avg. Occupancy 22.3%	Nursing Homes	Nursing Home Beds 112	Avg. Occupancy 98.5%
In-F	Patient Days 2,039	Total Admissions 570	Avg. Stay 3.58	Total Days 40,248		
7]		
	Hospitals 1	Hospital Beds 25	Avg. Occupancy 31.3%	Nursing Homes	Nursing Home Beds 117	Avg. Occupancy 83.5%
In-F	Patient Days 2,852	Total Admissions 766	Avg. Stay 3.72	Total Days 35,671		
8]		
	Hospitals 1	Hospital Beds 95	Avg. Occupancy 39.3%	Nursing Homes	Nursing Home Beds 181	Avg. Occupancy 98.7%
In-F	Patient Days 13,618	Total Admissions 4,086	Avg. Stay 3.33	Total Days 65,208		
9						
	Hospitals 1	Hospital Beds	Avg. Occupancy 47.5%	Nursing Homes	Nursing Home Beds 144	Avg. Occupancy 99.8%
In-F	Patient Days	Total Admissions 2,457	Avg. Stay 5.01	Total Days 52,463		
10				· · · · · · · · · · · · · · · · · · ·		

	NURSING HOMES			HOSPITALS	
Avg. Occupancy 84.1%	Nursing Home Beds 232	Nursing Homes 2	Avg. Occupancy 43.6%	Hospital Beds 53	Hospitals 1
		Total Days 71,179	Avg. Stay 3.71	Total Admissions 2,272	In-Patient Days 8,433
					11
Avg. Occupancy 90.3%	Nursing Home Beds 728	Nursing Homes 8	Avg. Occupancy 55.3%	Hospital Beds 557	Hospitals 1
		Total Days 240,041	Avg. Stay 4.58	Total Admissions 24,550	In-Patient Days 112,501
					12
Avg. Occupancy 90.9%	Nursing Home Beds 102	Nursing Homes 1	Avg. Occupancy 31.1%	Hospital Beds 52	Hospitals 1
		Total Days 33,848	Avg. Stay 3.12	Total Admissions 1,893	In-Patient Days 5,911
					13
Avg. Occupancy 87.3%	Nursing Home Beds 237	Nursing Homes 2	Avg. Occupancy 61.8%	Hospital Beds 78	Hospitals 1
		Total Days 75,549	Avg. Stay 3.77	Total Admissions 4,674	In-Patient Days 17,599
					14
Avg. Occupancy 98.2%	Nursing Home Beds 164	Nursing Homes 3	Avg. Occupancy 44.1%	Hospital Beds 40	Hospitals 1
		Total Days 58,760	Avg. Stay 3.65	Total Admissions 1,762	In-Patient Days 6,435
					15
Avg. Occupancy 87.4%	Nursing Home Beds 371	Nursing Homes 3	Avg. Occupancy 35.3%	Hospital Beds 84	Hospitals 1
		Total Days 118,292	Avg. Stay 3.13	Total Admissions 3,452	In-Patient Days 10,816
					16
Avg. Occupancy 98.2%	Nursing Home Beds 217	Nursing Homes 2	Avg. Occupancy 57.3%	Hospital Beds 69	Hospitals 1
		Total Days 77,748	Avg. Stay 3.71	Total Admissions 3,886	In-Patient Days 14,434
					17
Avg. Occupancy 95.5%	Nursing Home Beds 316	Nursing Homes 3	Avg. Occupancy 50.6%	Hospital Beds 112	Hospitals 1
		Total Days 110,197	Avg. Stay 3.29	Total Admissions 6,292	In-Patient Days 20,678
					18
Avg. Occupancy 76.7%	Nursing Home Beds 1,140	Nursing Homes	Avg. Occupancy 61.1%	Hospital Beds 559	Hospitals 3
		Total Days 319 ,105	Avg. Stay 5.11	Total Admissions 24,398	In-Patient Days 124,690
					19

	NURSING HOMES			HOSPITALS	
Avg. Occupancy 86.3%	Nursing Home Beds 665	Nursing Homes 7	Avg. Occupancy 51.0%	Hospital Beds 246	Hospitals 3
		Total Days 209,548	Avg. Stay 3.91	Total Admissions 11,710	In-Patient Days 45,782
					20
Avg. Occupancy 98.4%	Nursing Home Beds 246	Nursing Homes 1	Avg. Occupancy 54.6%	Hospital Beds 98	Hospitals 1
		Total Days 88,377	Avg. Stay 4.05	Total Admissions 4,824	In-Patient Days 19,531
					21
Avg. Occupancy 91.6%	Nursing Home Beds 1,935	Nursing Homes 15	Avg. Occupancy 54.0%	Hospital Beds 1,301	Hospitals 5
		Total Days 647,041	Avg. Stay 4.74	Total Admissions 54,084	In-Patient Days 256,462
					22
Avg. Occupancy 75.7%	Nursing Home Beds 3,153	Nursing Homes 22	Avg. Occupancy 57.3%	Hospital Beds 4,314	Hospitals 12
		Total Days 871,083	Avg. Stay 5.06	Total Admissions 178,478	In-Patient Days 902,997
					23
Avg. Occupancy 89.5%	Nursing Home Beds 2,408	Nursing Homes 17	Avg. Occupancy 52.8%	Hospital Beds 1,862	Hospitals 7
		Total Days 786,557	Avg. Stay 5.66	Total Admissions 63,388	In-Patient Days 359,024
					24
Avg. Occupancy 95.2%	Nursing Home Beds 275	Nursing Homes 2	Avg. Occupancy 61.5%	Hospital Beds 138	Hospitals 1
		Total Days 95,518	Avg. Stay 4.33	Total Admissions 7,162	In-Patient Days 30,984
					25
Avg. Occupancy 81.4%	Nursing Home Beds 1,164	Nursing Homes 10	Avg. Occupancy 71.3%	Hospital Beds 599	Hospitals 3
		Total Days 345,875	Avg. Stay 4.63	Total Admissions 33,634	In-Patient Days 155,851
					26
Avg. Occupancy 89.3%	Nursing Home Beds 230	Nursing Homes 3	Avg. Occupancy 35.1%	Hospital Beds 77	Hospitals 1
		Total Days 74,997	Avg. Stay 3.32	Total Admissions 2,970	In-Patient Days 9,863
					27
Avg. Occupancy 92.5%	Nursing Home Beds 1,211	Nursing Homes 12	Avg. Occupancy 49.0%	Hospital Beds 677	Hospitals 5
		Total Days 408,843	Avg. Stay 4.39	Total Admissions 27,571	In-Patient Days 121,163
					28

	NURSING HOMES			HOSPITALS	
Avg. Occupancy 89.8%	Nursing Home Beds 209	Nursing Homes 2	Avg. Occupancy 37.6%	Hospital Beds 82	Hospitals 1
		Total Days 68,533	Avg. Stay 5.89	Total Admissions 1,909	In-Patient Days 11,241
					29
Avg. Occupancy 97.5%	Nursing Home Beds 187	Nursing Homes 3	Avg. Occupancy 42.3%	Hospital Beds 52	Hospitals 1
		Total Days 66,537	Avg. Stay 4.19	Total Admissions 1,915	In-Patient Days 8,032
Avg. Occupancy 230.8%	Nursing Home Beds 47	Nursing Homes 1	Avg. Occupancy 69.0%	Hospital Beds 25	Hospitals 1
		Total Days 39,593	Avg. Stay 5.30	Total Admissions 1,189	In-Patient Days 6,299
					31
Avg. Occupancy 81.1%	Nursing Home Beds 1,352	Nursing Homes 12	Avg. Occupancy 46.3%	Hospital Beds 1,823	Hospitals 4
_	_	Total Days 399,989	Avg. Stay 5.43	Total Admissions 56,716	In-Patient Days 308,069
Avg. Occupancy 95.1%	Nursing Home Beds 364	Nursing Homes	Avg. Occupancy 31.9%	Hospital Beds 47	Hospitals 1
		Total Days 126,307	Avg. Stay 3.84	Total Admissions 1,423	In-Patient Days 5,464
					33
Avg. Occupancy 91.8%	Nursing Home Beds 152	Nursing Homes 2	Avg. Occupancy	Hospital Beds	Hospitals 0
		Total Days 50,956	Avg. Stay	Total Admissions	In-Patient Days
					34
Avg. Occupancy 95.6%	Nursing Home Beds 100	Nursing Homes 2	Avg. Occupancy 34.3%	Hospital Beds 25	Hospitals 1
		Total Days 34,896	Avg. Stay 4.24	Total Admissions 739	In-Patient Days 3,130
					35
Avg. Occupancy 90.9%	Nursing Home Beds 104	Nursing Homes	Avg. Occupancy 17.1%	Hospital Beds 50	Hospitals 1
		Total Days 34,504	Avg. Stay 3.26	Total Admissions 955	In-Patient Days 3,118
					36
Avg. Occupancy 93.9%	Nursing Home Beds 285	Nursing Homes 3	Avg. Occupancy 55.3%	Hospital Beds 107	Hospitals 2
		Total Days 97,681	Avg. Stay 3.58	Total Admissions 6,039	In-Patient Days 21,613
					37

	NURSING HOMES			HOSPITALS	
Avg. Occupancy 96.6%	Nursing Home Beds 610	Nursing Homes 5	Avg. Occupancy 57.7%	Hospital Beds 185	Hospitals 2
		Total Days 215,001	Avg. Stay 4.63	Total Admissions 8,404	In-Patient Days 38,940
					38
Avg. Occupancy 92.6%	Nursing Home Beds 249	Nursing Homes 2	Avg. Occupancy 51.2%	Hospital Beds 215	Hospitals 1
		Total Days 84,180	Avg. Stay 4.13	Total Admissions 9,732	In-Patient Days 40,161
					39
Avg. Occupancy 83.0%	Nursing Home Beds 639	Nursing Homes 4	Avg. Occupancy 54.7%	Hospital Beds 406	Hospitals 1
		Total Days 193,666	Avg. Stay 4.31	Total Admissions 18,841	In-Patient Days 81,111
					40
Avg. Occupancy 98.9%	Nursing Home Beds 334	Nursing Homes 2	Avg. Occupancy 58.1%	Hospital Beds 116	Hospitals 1
		Total Days 120,581	Avg. Stay 4.17	Total Admissions 5,906	In-Patient Days 24,619
					41
Avg. Occupancy 85.1%	Nursing Home Beds 260	Nursing Homes 2	Avg. Occupancy 48.1%	Hospital Beds 143	Hospitals 1
		Total Days 80,787	Avg. Stay 4.45	Total Admissions 5,635	In-Patient Days 25,095
					42
Avg. Occupancy 93.8%	Nursing Home Beds 674	Nursing Homes 6	Avg. Occupancy 38.3%	Hospital Beds 314	Hospitals 2
		Total Days 230,760	Avg. Stay 4.40	Total Admissions 9,984	In-Patient Days 43,881
					43
Avg. Occupancy 87.0%	Nursing Home Beds 1,236	Nursing Homes 8	Avg. Occupancy 45.9%	Hospital Beds 1,025	Hospitals 4
		Total Days 392,335	Avg. Stay 5.03	Total Admissions 34,132	In-Patient Days 171,726
					44
Avg. Occupancy 95.5%	Nursing Home Beds 419	Nursing Homes 4	Avg. Occupancy 43.5%	Hospital Beds 115	Hospitals 1
		Total Days 146,067	Avg. Stay 3.73	Total Admissions 4,893	In-Patient Days 18,275
					45
Avg. Occupancy 94.4%	Nursing Home Beds 275	Nursing Homes	Avg. Occupancy 22.0%	Hospital Beds 40	Hospitals 1
		Total Days 94,726	Avg. Stay 4.00	Total Admissions 802	In-Patient Days 3,209
					46

	HOSPITA	LS			NURSING HOMES	
Hosp	pitals Hospital 4 1,	_	upancy Nurs	sing Homes 17	Nursing Home Beds 1,912	Avg. Occupancy 73.9%
In-Patient I 201, ⁻	-	sions Av 812	g. Stay 5.05	Total Days 516,031		
47						
	pitals Hospital 1		upancy Nurs 2.0%	sing Homes 3	Nursing Home Beds 216	Avg. Occupancy 90.4%
In-Patient I 21,4	-	sions Av	g. Stay 4.31	Total Days 71,265		
48						
Hosp	pitals Hospital 1		1pancy Nurs 8.4%	sing Homes 6	Nursing Home Beds 379	Avg. Occupancy 83.5%
In-Patient [9,9	•	sions Av	g. Stay 4.80	Total Days 115,507		
49						
Hosp	pitals Hospital 1		upancy Nurs 4.8%	sing Homes 2	Nursing Home Beds 241	Avg. Occupancy 85.7%
In-Patient I 3,5	-	sions Av	g. Stay 3.64	Total Days 75,359		
50						
Hosp	pitals Hospital		npancy Nurs	sing Homes 2	Nursing Home Beds 167	Avg. Occupancy 95.2%
In-Patient [6,7	•	sions Av	g. Stay 3.18	Total Days 58,031		
51			i			
Hosp	pitals Hospital		Jpancy Nurs	sing Homes 1	Nursing Home Beds 128	Avg. Occupancy 89.1%
In-Patient [2,4	•	sions Av	g. Stay 3.81	Total Days 41,630		
52						
Hosp	pitals Hospital 5 1,		upancy Nurs	sing Homes 16	Nursing Home Beds 1,663	Avg. Occupancy 75.6%
In-Patient I 263,0	•	sions Av	g. Stay 5.48	Total Days 458,624		
53						
Hosp	pitals Hospital		upancy Nurs	sing Homes 4	Nursing Home Beds 314	Avg. Occupancy 88.6%
In-Patient [29,4	•	sions Av	g. Stay 4.29	Total Days 101,601		
54						
Hosp	pitals Hospital		npancy Nurs	sing Homes 1	Nursing Home Beds 100	Avg. Occupancy 88.4%
In-Patient [2,7	Days Total Admis 751	sions Av	g. Stay 3.66	Total Days 32,275		
55						

	NURSING HOMES			HOSPITALS	
Avg. Occupancy 90.0%	Nursing Home Beds 298	Nursing Homes 3	Avg. Occupancy 26.7%	Hospital Beds 60	Hospitals 1
		Total Days 97,885	Avg. Stay 4.03	Total Admissions 1,452	In-Patient Days 5,854
					56
Avg. Occupancy 83.9%	Nursing Home Beds 339	Nursing Homes 3	Avg. Occupancy 20.9%	Hospital Beds 89	Hospitals 2
		Total Days 103,860	Avg. Stay 3.24	Total Admissions 2,097	In-Patient Days 6,790
					57
Avg. Occupancy 89.0%	Nursing Home Beds 262	Nursing Homes 3	Avg. Occupancy 32.3%	Hospital Beds 72	Hospitals 1
		Total Days 85,142	Avg. Stay 3.52	Total Admissions 2,411	In-Patient Days 8,490
					58
Avg. Occupancy 95.7%	Nursing Home Beds 347	Nursing Homes 3	Avg. Occupancy 39.0%	Hospital Beds 87	Hospitals 1
		Total Days 121,216	Avg. Stay 2.79	Total Admissions 4,436	In-Patient Days 12,385
					59
Avg. Occupancy	Nursing Home Beds	Nursing Homes	Avg. Occupancy 33.7%	Hospital Beds 25	Hospitals 1
		Total Days	Avg. Stay 4.55	Total Admissions 675	In-Patient Days 3,072
					60
Avg. Occupancy 90.0%	Nursing Home Beds 434	Nursing Homes 4	Avg. Occupancy 42.4%	Hospital Beds 190	Hospitals 1
		Total Days 142,646	Avg. Stay 3.91	Total Admissions 7,511	In-Patient Days 29,371
					61
Avg. Occupancy 38.0%	Nursing Home Beds 219	Nursing Homes 2	Avg. Occupancy 13.7%	Hospital Beds 52	Hospitals 1
		Total Days 30,410	Avg. Stay 3.37	Total Admissions 774	In-Patient Days 2,606
					62
Avg. Occupancy 81.1%	Nursing Home Beds 200	Nursing Homes 2	Avg. Occupancy 33.8%	Hospital Beds 94	Hospitals 1
		Total Days 59,173	Avg. Stay 3.99	Total Admissions 2,904	In-Patient Days 11,582
					63
Avg. Occupancy 95.8%	Nursing Home Beds 75	Nursing Homes 1	Avg. Occupancy 7.6%	Hospital Beds 64	Hospitals 1
		Total Days 26,221	Avg. Stay 3.56	Total Admissions 498	In-Patient Days 1,774
					64

In-Patient	•	spital Beds A	_			
	1	55	vg. Occupancy 49.8%	Nursing Homes 3	Nursing Home Beds 305	Avg. Occupancy 89.0%
9,	Days Total . 999	Admissions 2,642	Avg. Stay 3.78	Total Days 99,124		
65						
	1	65	vg. Occupancy 53.2%	Nursing Homes 2	Nursing Home Beds 243	Avg. Occupancy 90.2%
In-Patient 12,	Days Total . 618	Admissions 3,267	Avg. Stay 3.86	Total Days 80,002		
66						
	1	50	vg. Occupancy 29.6%	Nursing Homes 4	Nursing Home Beds 350	Avg. Occupancy 82.0%
In-Patient 5,	Days Total 409	Admissions 1,329	Avg. Stay 4.07	Total Days 104,780		
67						
Hos	pitals Ho	spital Beds Av 45	vg. Occupancy 48.0%	Nursing Homes 5	Nursing Home Beds 507	Avg. Occupancy 94.5%
In-Patient 7,	Days Total . 892	Admissions 1,827	Avg. Stay 4.32	Total Days 174,897		
68						
Hos	pitals Ho	spital Beds Av 143	vg. Occupancy 34.7%	Nursing Homes 2	Nursing Home Beds 338	Avg. Occupancy 96.5%
In-Patient 18,	Days Total . 137	Admissions 4,278	Avg. Stay 4.24	Total Days 119,082		
69						
	1	spital Beds Av	vg. Occupancy 22.2%	Nursing Homes 1	Nursing Home Beds 85	Avg. Occupancy 98.3%
In-Patient 2,	Days Total . 593	Admissions 601	Avg. Stay 4.31	Total Days 30,483		
70						
Hos	pitals Ho	spital Beds Av 40	vg. Occupancy 8.3%	Nursing Homes 1	Nursing Home Beds 80	Avg. Occupancy 98.6%
In-Patient 1 ,	Days Total . 211	Admissions 285	Avg. Stay 4.25	Total Days 28,795		
71						
Hos	pitals Ho	spital Beds Av 49	vg. Occupancy 22.6%	Nursing Homes 1	Nursing Home Beds 127	Avg. Occupancy 96.1%
In-Patient 4,	Days Total . 035	Admissions 404	Avg. Stay 9.99	Total Days 44,526		
72						
Hos	pitals Ho	spital Beds Av	vg. Occupancy 31.1%	Nursing Homes 2	Nursing Home Beds 172	Avg. Occupancy 82.7%
In-Patient 11,	Days Total . 674	Admissions 2,936	Avg. Stay 3.98	Total Days 51,921		
73						

	NURSING HOMES			HOSPITALS	
Avg. Occupancy 95.3%	Nursing Home Beds 207	Nursing Homes 2	Avg. Occupancy 45.0%	Hospital Beds 80	Hospitals 1
		Total Days 72,016	Avg. Stay 4.23	Total Admissions 3,103	In-Patient Days 13,129
					74
Avg. Occupancy 76.4%	Nursing Home Beds 142	Nursing Homes 1	Avg. Occupancy 38.3%	Hospital Beds 60	Hospitals 1
		Total Days 39,593	Avg. Stay 4.92	Total Admissions 1,705	In-Patient Days 8,391
					75
Avg. Occupancy 98.7%	Nursing Home Beds 267	Nursing Homes 4	Avg. Occupancy 54.9%	Hospital Beds 264	Hospitals 1
		Total Days 96,236	Avg. Stay 5.62	Total Admissions 9,420	In-Patient Days 52,911
					76
Avg. Occupancy 90.4%	Nursing Home Beds 919	Nursing Homes 9	Avg. Occupancy 49.1%	Hospital Beds 753	Hospitals 4
		Total Days 303 ,199	Avg. Stay 5.31	Total Admissions 25,451	In-Patient Days 135,042
					77
Avg. Occupancy 90.8%	Nursing Home Beds 117	Nursing Homes	Avg. Occupancy 39.6%	Hospital Beds 25	Hospitals 1
		Total Days 38,762	Avg. Stay 5.94	Total Admissions 608	In-Patient Days 3,611
					78
Avg. Occupancy 97.3%	Nursing Home Beds 287	Nursing Homes 4	Avg. Occupancy 28.5%	Hospital Beds 155	Hospitals 1
		Total Days 101,945	Avg. Stay 3.88	Total Admissions 4,158	In-Patient Days 16,122
					79
Avg. Occupancy 91.4%	Nursing Home Beds 369	Nursing Homes 4	Avg. Occupancy 51.6%	Hospital Beds 176	Hospitals 1
		Total Days 123,126	Avg. Stay 3.84	Total Admissions 8,640	In-Patient Days 33,147
					80
Avg. Occupancy 95.2%	Nursing Home Beds 95	Nursing Homes	Avg. Occupancy 29.6%	Hospital Beds 60	Hospitals 1
		Total Days 32,996	Avg. Stay 3.45	Total Admissions 1,875	In-Patient Days 6,478
					81
Avg. Occupancy 98.8%	Nursing Home Beds 188	Nursing Homes 1	Avg. Occupancy 73.1%	Hospital Beds 25	Hospitals 1
		Total Days 67,785	Avg. Stay 7.68	Total Admissions 868	In-Patient Days 6,670
					82
	-	-			

	NURSING HOMES			HOSPITALS	
Avg. Occupancy 95.3%	Nursing Home Beds 367	Nursing Homes 4	Avg. Occupancy 58.3%	Hospital Beds 364	Hospitals 2
		Total Days 127,689	Avg. Stay 4.60	Total Admissions 16,834	In-Patient Days 77,476
					83
Avg. Occupancy 83.4%	Nursing Home Beds 92	Nursing Homes 1	Avg. Occupancy 19.2%	Hospital Beds 25	Hospitals 1
		Total Days 28,007	Avg. Stay 5.66	Total Admissions 310	In-Patient Days 1,754
					84
Avg. Occupancy 94.8%	Nursing Home Beds 62	Nursing Homes 1	Avg. Occupancy 42.8%	Hospital Beds 25	Hospitals 1
		Total Days 21,464	Avg. Stay 4.87	Total Admissions 802	In-Patient Days 3,905
					85
Avg. Occupancy 90.8%	Nursing Home Beds 108	Nursing Homes 1	Avg. Occupancy 13.4%	Hospital Beds 63	Hospitals 1
		Total Days 35,779	Avg. Stay 3.70	Total Admissions 834	In-Patient Days 3,087
					86
Avg. Occupancy 72.3%	Nursing Home Beds 113	Nursing Homes 2	Avg. Occupancy 38.4%	Hospital Beds 34	Hospitals 1
		Total Days 29,818	Avg. Stay 2.98	Total Admissions 1,597	In-Patient Days 4,762
					87
Avg. Occupancy 70.3%	Nursing Home Beds 245	Nursing Homes 2	Avg. Occupancy 31.6%	Hospital Beds 75	Hospitals 1
		Total Days 62,865	Avg. Stay 3.95	Total Admissions 2,190	In-Patient Days 8,648
					88
Avg. Occupancy 95.9%	Nursing Home Beds 168	Nursing Homes 1	Avg. Occupancy 61.9%	Hospital Beds 88	Hospitals 1
		Total Days 58,788	Avg. Stay 3.42	Total Admissions 5,813	In-Patient Days 19,895
					89
Avg. Occupancy 97.4%	Nursing Home Beds 73	Nursing Homes	Avg. Occupancy 16.7%	Hospital Beds 50	Hospitals 1
		Total Days 25,950	Avg. Stay 3.53	Total Admissions 864	In-Patient Days 3,054
					90
Avg. Occupancy 97.8%	Nursing Home Beds 88	Nursing Homes	Avg. Occupancy 28.9%	Hospital Beds 47	Hospitals 1
		Total Days 31,428	Avg. Stay 3.37	Total Admissions 1,474	In-Patient Days 4,966
					91

Page 11

	HOSPITALS			NURSING HOMES	
Hospitals 1	Hospital Beds 39	Avg. Occupancy 62.5%	Nursing Homes 2	Nursing Home Beds 101	Avg. Occupancy 98.3%
In-Patient Days 8,897	Total Admissions 1,666	Avg. Stay 5.34	Total Days 36,240		
92					
Hospitals 1	Hospital Beds 128	Avg. Occupancy 28.2%	Nursing Homes 4	Nursing Home Beds 332	Avg. Occupancy 63.9%
In-Patient Days 13,165	Total Admissions 3,219	Avg. Stay 4.09	Total Days 77,485		
93					
Hospitals 1	Hospital Beds 300	Avg. Occupancy 47.7%	Nursing Homes 6	Nursing Home Beds 568	Avg. Occupancy 59.3%
In-Patient Days 52,266	Total Admissions 10,155	Avg. Stay 5.15	Total Days 122 ,989		
94					
Hospitals 1	Hospital Beds 231	Avg. Occupancy 38.4%	Nursing Homes 4	Nursing Home Beds 520	Avg. Occupancy 96.5%
In-Patient Days 32,338	Total Admissions 7,788	Avg. Stay 4.15	Total Days 183,176		
95					
Hospitals 1	Hospital Beds 50	Avg. Occupancy 5.2%	Nursing Homes 1	Nursing Home Beds 92	Avg. Occupancy 85.2%
In-Patient Days 949	Total Admissions 276	Avg. Stay 3.44	Total Days 28,623		
96					
Hospitals 1	Hospital Beds 40	Avg. Occupancy 37.4%	Nursing Homes 1	Nursing Home Beds 78	Avg. Occupancy 94.9%
In-Patient Days 5,459	Total Admissions 1,943	Avg. Stay 2.81	Total Days 27,006		

Report created by Georgia Board for Physician Workforce, State of Georgia